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What will come in the place of the question mark ‘?’ in the

following question?

AefRad 99 5 9 g 12! o T 9 =T AT
. Y
Question 1- 9993 175=65+111-7

3@“ =
A8

212*»?140:— X B.28

d=1pg 30 C.38
D.22
E. None of these
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What will come in the place of the question mark ‘?’ in the

following question?

AefRad 99 5 9 g 12! o T 9 =T AT

Question 2- (81 x 8) + 90 =(132 x 4% ?

_ AD10
A= 2o B. 280
g 30 C. 300
D.226

E. None of these
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What will come in the place of the question mark ‘?° in the

following question?

AETRad I | T I 2" oh €A U -7 STTTT?
Question 3- (8+7x7)+10%x3 =7

x= s

5

A.16.1
D B-17.1

i/ 30 C.18.1
D.19.1

E. None of these
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What will come in the place of the question mark ‘?’ in the

following question?

AefRad 99 5 9 g 12! o T 9 =T AT

Question 4- 5 x V625 +300 - 200@

25

= [25 +1o¢ A 12
2

1= 25 30 B.13

X P15

—

E. None of these

https://t.me/mathbytarunsirmepl @



30 What will come in the place of the question mark ‘?’ in the

following question?

AefRad 99 5 9 g 12! o T 9 =T AT

< Question 5-  2.5% of 400 + 4.5% of 800 <% of 10
NG
Q”Z; 0+30= x A.360
w> [0 B. 260
=Yg LC460
———— D. 560

E. None of these
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Question 6- The present ages of A and B are in the ratio 2 : 3 and

ratio of B and C is@and ratio of C and D is 5 :6. If the age of
D is 90 years, then Tind the age of the second oldest of the four

T 6- A SR B o1 A 3T T ST 2: 3 & R B 3R C
ST 4: S%ﬁTC?’ﬁTDobl 31«|q|<15 6 81 ¢ D AT 317 90 T
EL FER Y GH{ gy ¢ ST ES Y T hiTorR

A.90

_B75

30 C. 60
D.40

E. None of these
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81 125
S M. ¢
§ [ 2 S W:‘%QMQM
[= 5 Yary

=154
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What value should come in place of the question mark (?) in the
following question?

HETeTiad 99 4 9 0% (?) Shl*}v‘alvl O qTH T AT A1ET02

Question 7- 18 -?+49+ 11 x11 =120

A.58

4=63 B768
- 30 C.78
D.54

E. None of these
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What value should come in place of the question mark (?) in the
following question?

METTRad 95 0 9 0@ () o T 9 H1H =T AT ATey?
Question 8- 450% of ? =~ 90 + 350% of 6@)+ 70 =40
450% ? + 90 + 600 =T 350% +~ 70 =40

ﬂggxl 30

T 2o - g
- 10
/O_; Ko 1oy A. 100
O
Y 30 B-200
——— /O
95 C. 150
D.175
J(: )\oo E. None of these
Q o
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What value should come 1n place of the question mark (?) in the

following question?

A TeTRad H%TﬁH%T?IE(?)Sh@H O G T AT <A1E02
Question 9- 432 - 413 +/59’= ? %18

[82= Las
L= 25 A.13.6
) & 30 B.12.6

23.C C.14.6
e \D23.6
E. None of these
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What value should come 1n place of the question mark (?) in the

following question?

METTRad I | 9 g (?) o T 9 HF 497 37T A1188?

| 2
Q [@ Question 10- 256 278 x 2=2/250£50 x 75
27y
X = 500
— A. 100
30 B. 200
C. 320
P 300

E. None of these
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Question 11- Two varieties of a liquid with different prices 1s mixed
in the ratio 2 : 3. The price of 1st type of liquid 1s Rs10 per litre while
the price of 2nd type of liquid 1s Rs. 15 per litre. The average price of

the mixture
T 11- Toh A shl AT TohEHT 3hl S-S ShIHd! o €1 2: 3 3 ST
T T SITdT 2] 98 IR oF it shl shigd 10 9 Id ofiel & STelfeh

HL T oh e ohl shiFdl 15 &9 i <fiet 2| feior =l ST shiwe

A. 11
/JWHC%: 207 +45y 30 B.12
’ 5Y C.14
— 28 D. 15
== (3 QL
I @L vE None of these

——————
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L(S—Sl: 2 X=20
5X= 65
X=X

e e
—_—
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Question 12- The batting average of a player for 50 innings is 60

runs. His highest score exceeds his lowest score by 182runs. If these
two 1nnings are excluded, the average of the remaining 48 innings is
58 runs. Find his highest score.

I 12- 50 ITET o Tl Teh AT} it Sedialrsit 39 60 T 2 3R
STAH ThIL Ik ~IAGH ThI 182 T H fereh 8| TR 5 S qTia ol
IS <A1 SITQ dF rehl SI=i 48 ITRET o7 37T 58 T 21 IHhT I=IdH ThiK

N A.160
SIREASIY
30 B. 170

C.110
D.120
\_E. Xone of these
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H- L=182

59 (02 )

N 700
11 L

—

oy
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Question 13- A boat travels 60 km upstream and 60 km downstream

in 8 hours. Time taken for the same boat to travel 100 km

‘\2& (@ A downstream if its speed against the stream 1s 12 kmph
\y\\s G&\@g U Tl €T o Sfdehet 60 fohet AT €T ok 31gehet 60 fohrl ol &l 8 =i o
VX\& T St =l TG & oh%ﬁ‘cr:lﬁﬁﬂﬁr 12 %ﬂ?ﬂﬁra‘{r%ﬂﬁwﬁlﬁ
<! ¥R o STTehed 100 TeRHT oAl AT L H qHT 1T ©
¢o O
@ z T égf = & ﬁ A5 hour
by & UK{_"QO d’%?,l{ lz.jlliour
5 G .7 hour
T 3 = 4 T,D_Ocml (C\b—« ott  D.8 hour
_——  E. None of these
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What should come 1n place of the question mark '?' in the following

number series?
(TR AT HEaT | I 0@ 12" o T 9 RIT AT AMRT?
Question lﬂ 30, 31, 27, 36, 20 ?

W

-y 49 ¢

)

' ) %l q1+¢52 A 45
_ D.65

E. None of these
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What should come 1n place of the question mark '?' in the following

number series?
[METTRIT ST @t § 937 g 12" o6 T W AT 3THET ATRW?
Question 15- 10, 19, 37, ?, 145, 289

[0XQ - |= |9

I9X2-4 < 5¥ A.74

I~ = %3 30 B3
a -

E. None of these
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What should come 1n place of the question mark '?' in the following

number series?
(TR ST et | U 0@ 12" o T 9 RIT AT AMR0?
Question 16-[ 4.5, 4.5, 9, 36, 288, ?

15% 1= 45| 280x16="L08

15x2= g A. 4408

3“1: 3C 30 B. 5508

36X Q= 289 C. 6508
_D-4608

E. None of these
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What should come 1n place of the question mark '?' in the following

number series?
HHETIRad G& %uglcfu "Iy g 19" oh A U AT STHET M8 0?

Question 17- {J\JgﬁM 120 720, ?

X3 X5 YC,
70?0 X¥: 50 L/O A.5050
30 B. 4040
v€5040
D.2040

E. None of these
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The given bar graph shows the population(Male+Female) of different

townP, Q ,R.Sand T
T T SR T o191 ;& P, Q, R, S 3R T hl SIHEEAT (TS + i) s

SIMAT ®

2500

1400

2000 1 6 0 O
590 1200
1000 I | 8‘0‘0
P 0) R S T
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Question 18- Find the average number of population 1n all city.
T 18- Gl ITERT H SHEEAT ohl HHd HE&IT J1d hify

w1 q j@
N /ijfO 2500 /\
2000 /\\
160 A.2250
§ B. 1450
C.2240
>0 I D. 3450
\E—None of these

T
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Question 19- If population of city T 1s increasec&) by 10% and 20%
respectively and which is the population of city @. Then population of
city U 1s what percent more than population of city P.

30 95 19- A IEX T ot STHEEAT T ShHT: 10% SR 20% T g Bieft & 37

STEX T oh! SIHEEAT o1 82 f I18¢ U shi SHEEAT I P #hi SHa@m o

O
0430 + [0x90 =B 1600 A.224%
[0o H"D B. 140%
= 37%0/ 800 C.110%
° - D-142%

E. None of these

P Q R S T
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T:2200

35875!2200

= {904
= [QRop JDLH\ o
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Question 20- If the population of city S becomes 1720 in which male

increased by 8% and female increased by 6% then find number of

male before increase in population.

30 gl AR S T STHEAT 1720 B STt & STEH T2 H 8% ht I Bicit & AN
i3 7 6% 31 I Il & Al SHUEAT H Jig § Tgel Te ohl §&T 1
ShITSTH 2500 2200—
1400 20 e I
oo 1200 B. 800
00 — b C. 600
500 — D. 1200
o E. None of these

P Q R @ T
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@j; [6o 0 gj s

/s 67,
Tpuwari= | TR0~ 1600 \ Y,
= [0 30 75/
Aol = 12 yjog N
= 7 570 }?C#/'O (9{ ( L } L{t_ /600
fof)qjq% [= ‘LfOo
M 5= Hooxs
“Reo
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Question 21- In city Q ratio of female to male 1s 2:5. Then number of
male in Q 1s what percent of total population of city R.

T 21- I Q H AW TR T&Y 1 31U 2:5 =1 AT Q H T&NI hl e

3 I1EL R i N STHEEIT T fohdHT Sﬂ%ﬂﬁ%‘?
£ m=-Q:s)
7= oo
” (=20 ™ ( 1600 A.125%
dS=Rmxs B. 140%
g ™ (00) C. 110%
() _ ()
(= b T
Qes E. None of these

=~ 125y R S T
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Question 22- If the ratio between the male and female 1n city P, R and
S 1s 2:1, 3:2 and 5:3 then find the ratio between the total number of

male in these cities to the total population of city P and R.

30 Fi< IET P, R 3R S H Y& IR AGAT o sff=l shi ST 2:1, 3:2 3 5:3
2, T 37 WeU H JENT oh1 el HEAT 3T e P 3R R Al et SHEEAT
i<l AT 1 ShIT9Y]

2 2900 —

o5 1600 A.107:100

L 1200 1400 B.200:110

S 300\ C.107:110
N D.101:111

= —E=None of these

(0]

P Q R S T
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